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Q.81) (a)

Explanation:

‘Emerging’ is wrong usage. ‘Emerged’ should be used.

Q.82) (d)

Explanation:

The correct sequence is PSQR.

Q.83) (b)

Explanation:

The correct sequence is RSPQ.

Q.84) (¢)

Explanation:

The correct sequence of paragraph is 53124.

(5) In the relentless pursuit of a sustainable future, the
imperative for an energy transition emerges as an unwavering
mandate, demanding audacious action and resolute
determination.

(3) The labyrinthine challenge of shifting from fossil
fuels to renewable energy sources requires meticulous
planning, colossal investments, and the fortitude to disrupt
long-established systems entrenched in the annals of
industrialization.

(1) With each passing moment, we teeter on the precipice of
irreversible consequences, where the ravenous appetite for
energy conspires with the existential threat of climate change.
The dexterous choreography of this transition demands not
only the orchestration of technological advancements and
innovative solutions but also the harmonization of political
will, economic viability, and societal engagement.

(2) As we navigate the treacherous terrain strewn with vested
interests, formidable barriers, and divergent perspectives,
we must rise above complacency and rally behind the
transformative potential that lies dormant within this
audacious endeavor.

(4) The road to an energy transition is arduous, fraught with
complexities, but it is through our unwavering resilience and
unwavering commitment that we shall pave the path towards
a sustainable future, forging a legacy that transcends time, and
kindles the embers of hope for generations yet unborn.

Q.85) (b)

Explanation:

The correct sequence is 543612.

(5) Gendered infrastructure, a subject of profound socio-cultural
significance, demands rigorous examination within the
intricate tapestry of societal systems.
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(4) The built environment, often an embodiment of patriarchal
norms, has historically perpetuated gender inequities,
perpetuating spatial biases and engendering disparities.

(3) The manifestation of gendered infrastructure materializes in
the subtle design choices that shape our urban landscapes,
reinforcing power dynamics and further marginalizing
certain communities.

(6) As the framework of cities and public spaces fails to
accommodate diverse needs, it perpetuates a systemic
exclusion of women, exacerbating their vulnerability and
hindering their access to essential services and opportunities.

(1) Challenging this entrenched paradigm necessitates a
paradigm shift in urban planning and design, recognizing
the multifaceted dimensions of gender and embracing an
inclusive approach that fosters safety, accessibility, and
empowerment for all individuals.

(2) To forge equitable societies, we must dismantle the gendered
infrastructure, rebalancing the scales of spatial justice, and
championing an era where every person, irrespective of
gender, can flourish and thrive within the architectural fabric
of our shared world.

Q.86) (¢)

Explanation:

Hog the limelight means to steal the limelight. It fits best in the
sentences.

Q.87) (a)

Explanation:

Bang for the buck means to value your money. It is apt for both
the sentences.

Q.88) (b)

Explanation:

A Slap on the Wrist means A very mild punishment. It fits best
in both sentences.

Q.89) (b)

Explanation:

From the options, only option B fits in best.

Q.90) (¢)

Explanation:

From the options given, option C is the best fit.

Q.91) (¢)

Explanation:

Option C is the correct answer.

Q.92) (b)

Explanation:



Option B is correct as per the passage.

Q.93) (a)

Explanation:

Option A is the right answer.

Q.94) (b)
Explanation:
As per the passage, both the statements are correct.

Q.95) (e)
Explanation:
Option E is correct.

Q.96) (¢)

Explanation:

The first paragraph itself is explaining the meaning of the ‘third
world countries’.

Q.97) (a)

Explanation:
The phrase “Give a big hand” means to give one a loud or

enthusiastic round of applause, usually as a show of approval or
appreciation.

Q.98) (b)

Explanation:

The first sentence is using it incorrectly.

Q.99) (¢)

Explanation:

Option C fits in the best in the blank.
Q.100) (a)

Explanation:

Option A fits in the blank aptly.

Q.101) (b)

Explanation:

Option B fits in the best.

Q.102) (d)

Explanation:

Option D is the correct answer here.

Q.103) (e)

Explanation:
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All the statements are grammatically correct. Hence, the option
E is the right answer.

Q.104) (d)

Explanation:

Only option D is grammatically correct.

Q.105) (e)

Explanation:

The reason behind thosis that all the senteces are taking about
re-coriting of history. Option E is taking about the greatest
period in history Thus, it is not in continuation.

Only option E is not continuing the idea of the other sentences.

Q.106) (b)

Explanation:

Only option B is not continuing the idea of the other sentences.

Q.107) (a)

Explanation:

In the first part, ‘characterizing’ is wrong usage. ‘characterized’
should be used.
In the fifth part, ‘undermines’ should be used.

Q.108) (c)

Explanation:

In 2nd sentence, ‘addressing’ is used wrongly. ‘address’ should
be used.

In the 3rd sentence, ‘necessitating’ is used wrongly. ‘necessitate’
should be used.

Q.109) (a)

Explanation:

In the 2nd sentence, ‘utilizing’ is wrong. ‘utilization’ is right.
In the 4th sentence, ‘being address’ is wrong. ‘address’ is
correct.

Q.110) (b)

Explanation:
In the 1st sentence, ‘drived’ is wrong. ‘driven’ is right.

In the 4th sentence, ‘has encompassing’ is wrong.
‘encompassing’ is right.
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